/,
STEVES AND SONS W,
203 Humble Ave. - %z o
San Antonio, TX 78225 ?m{ / €z P
/ / B <=Z
81 &85y o
o XN lo o ° .".@\5 Z ;3 g >
STEVES (| F - : i S E18
/] X X D & 3 ik
B W ggey
i g, °U5%
32 238%e
2 £3 g ey
1/4 TOP LITE CENTER LITE 3/4 OVAL 3/4 LITE wle 0% 592k
a ¥ Donow
slg s
DIRECT GLAZED FIBERGLASS DOOR REGENCY DECORATIVE COLLECTION 3l 5 =
| FETINS
w0
DOUBLE
wn
25| Sz
%] =Z Ll
INSWING/OUTSWING 58| <&
" v <9 s E 8
- <©
NON-IMPACT 74" MAX. OVERALL @ g o P
FRAME WIDTH gl P
hB o w2
R g
5 S
> o =0
5| g ¢
1 | T , gE *
6 —6 I(// ///
£ Z &
GENERAL NOTES 52 <%
O£ o5 X X
2 %9
1. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building b (u% <§< = e
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ). i T i % i o| /
©s ST : : &
2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base é = E %
material shall be beyond wall dressing or stucco. é >
o
3. When used in areas requiring wind borne debris protection this product is required to be protected ‘ E
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.
4. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x
buck masonry construction. W
<
o
5. Site conditions that deviate from the details of this drawing require further engineering analysis by |
a licensed engineer or registered architect. e
TABLE OF CONTENTS T T e DATE: 3/10/22
“I'NEGATIVE | POSITI!
1 Typical Elevations, Design Pressures & General Notes 6 Horizontal & Vertical Cross Sections (1X Buck) -25.0 DWG. BY: RW
2 | Door Panel Details 7 | Horizontal & Verfical Cross Sections (Direct fo Masonry) XX 74.0" x 81.5" cHk. B:  LFS
3 | Door Panel Options 8 | Vertical Cross Sections YES +40.0 -45.0 DRAWING NO.:
4 Elevations 9 Buck & Frame Anchoring & Hardware Details Fl_s 1"4 67.2
5 Horizontal & Vertical Cross Sections (2X Buck) 10 Bill of Materials & Components _ :

SHEET _1_oF 10

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.2.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.2.dwg

2.4" 12" 24"
0.5" ] - — ‘_-‘_ 0‘5u
: b:@. s:$. \ \ / -A:‘ .. ‘._ -;,_‘ —
-—I:t'\). ..5_-55':’ 5... a L o ..‘-%=§ o
KB’ "BA I / \ AA;. P,‘.
HINGE STILE LOCKBLOCK  LATCHSILE  COMPOSITE
COMPOSTE vy / 1"\ HORIZONTAL CROSS SECTION 19.75' LONG vy CAP
2/ (LVL)
35.75" MAX. DOOR
WIDTH
1/2"
21"MAX.D.LO. GLASS BTE
WIDTH —— 1" O.A. THICK GLASS
q INTERIOR
=1\ 1/8" TEMPERED GLASS
e DECORATIVE INSERT
- GLAING < » . » -4
VA COMPOUND ™= JE AR SPACE
m ; . e |/ t 1/8" TEMPERED GLASS
=) EXTERIOR
A4 ~F SR
e \2/ SWIGGLE SPACER
= 25 _
o = X i GLAZING DETAIL
e 215
S 95 e __J___
= o)
/
2 4 ?
=°\ /
N~
SEE HARDWARE
TABLE
LATCH: SIGNATURE SERIES
2 KWIKSET | DEADBOLT:  SIGNATURE SERIES (980)
@ LATCH: F51
SCHIAGE | eaDBOLT:  B6ON
FIBERGLASS DOOR PANEL
@ RocKWeLL | ATCH:  PREMIUM HANDLESET
DEADBOLT:  PREMIUM DEADBOLT

FIBERGLASS DOOR SKIN: MIN. 0.08" THK.

CORE MATERIAL: POLYURETHANE FOAM

COMPOSITE
CAP

TOP RAIL

(VL)

INTERIOR

0.85"

. .'. .' »V»"
FIBERGLASS SKIN — I 5 *» %
L ’ v,
5 # .
¥/i
/AN
.‘ - v v. 5
. [—
EXTERIOR
] 1
4 .L
4 a . 4 o
\}\ o
A\Y
] .-' - ‘\' N - v,
v v' "g
FOAM CORE — [ 7. .}
(POLYURETHANE) B
BOTTOM RAIL _——1{=
REINFORCEMENT
(LVL)
BOTTOM RAIL— LA L
(COMP.)

/ 2"\ VERTICAL CROSS SECTION

2/

June 7, 2022

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS,
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

FIBERGLASS DOOR

STEVES & SONS
PART OR ASSEMBLY:

PRODUCT:

DOOR
PANEL DETAILS

BY

REVISIONS

NOJ DATE

DATE: 3,/10,/22

SCALE  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41467.2

sHEEr _2 ofF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



TONY SANVYLTINSNGOD aNIiQTunNg My 2202 @

€186 'ON Aisibay Idg4 SNOISIATY

LELE'6S9'CLY "ON Buoyd A8 3iv4d {ON N o
GBGST "4 ‘OSMIDA ‘0CZ Xog ‘O'd § SNOILdO T3NVd ¥00d m % W 5 W -
*ONI ‘SINVLINSNOD oONIaing g. IXTGW3SSY d0 Ldvd e W - o ¥ .m_

- o ™
400a SSY19¥3al4 S lsleZ2 T

. o & o |
piigas -4 topud SNOS % S3AJLS i m o w S|l
%e. \J\\.&m peJddesd sjuswnoo(g $10Nao¥d 3 W 5 W %

p

V4
3/4 LITE

X
3/4 OVAL

[ 100

uf_ | | I

CENTER LITE

REGENCY DECORATIVE COLLECTION

X
1/4 TOP LITE

BMPZ L1971 7-14\0202) L9YLy-T\SBUIMEIQ - D\SIRAS ADNIDIY L9¥Lp-Td\slenoiddy 1onpoid epLOI - Y\USURULSG - SUOS PUB SBASIS\SIUBID\'Z



TONE SANVLAINSNGOD aNIGTNE MY 2202 @

€186 ‘ON Ansibey 3dad SNOISIATY

LBL6'BGY'CLR 'ON suUOUd Ad divd [ON N[O
S6GEE 14 ‘OOUIDA ‘OST Xog "O'd \Su SNOLLYAZ13 Slulziel N 1_
o_7_=_ _.m_.zs,._:mzoo oNIaTIiNg @ KTBWASSY 80 1avd SI=|E5], €8

A\ -ss =< g =
w 1, ¥00a SSY19438ld NIRRT
///zd@ JK@O\@%\\\ 60y "ON ‘3’ SNOS % SIAILS Pl olEEg ] _
Q3P aiioyy . X7, US4 uopuky @3 lg|glE =B
S V% iha_pe.odeid muewnoog *L0NaoYd 8 m HEE &

T20T ‘L sung

alilllis

o
Yo
/2
\8 /
ELEVATION
XX

BMpE 191 Ly-14\0202) L9FLy-T4\sBuimeld - D\SI1Y3S ADNIOTY L9¥Ly-1d\sierciddy 1onpoid epLOld - Y\jusUBWLIA - SUOS pue SaA3IS\SWRID\Z



(MAAN NN
T 1

W /
\\\\ .:-k... /vll’/
N IR NN
N « K .. // 'e}
\\ ° o e - 2]
\ i v, . V, ’ ; -~ \-‘. ‘:', ": g
L . & ‘ S5Y AR
T / ‘ =58 LN
AN e B v N o —05 9 giO=sSu o2
R VA = V R 4 - s S ~F 00©
o D . L [ 2 . . ; W.'. ... 0\\\ E .9 0'; o0
:’E ’/ >.'-‘ * e\\ - "6- g .
3 V (8) ; Y, el 2762
4 ' L N . — <] s \) 3 0
e o £ o e 7 /"'lu;'x‘u \ 2;\\ R
| 0.15" C-SINK e ‘ 8. .30
. R ™ TYP Yo 2 Z v B 3
PN m it 1y £5y
: | Fa3 2o:b
74 ) /@ g ” * 2 @ 0. & E
, b4 ofs v,
- 4 : VA ALY o § 3 Bui g
d.A [+ 0
oo INTERIOR ol
f///‘!l/l/!!’h'/ L S(\
| 2S
°| : x| g%
e . s SUVIRRAAELAVRARA ¢ E A\ (é)§ éé
a4 oo ~ EXTERIOR 1] INTERIOR 7, S0
1 f Q5 " F
‘ S -:5: S m QJI-Q-
. , , o= =
1 )/ / 2"\ VERTICAL CROSS SECTION SE|5 3%
e N
~ o UL Outswing shown g (S §(é’
1-1/4" MIN, e 2] oS
EMB. (TYP.) @ y & &
e N o “ E
m HORIZONTAL CROSS SECTION e =
5 ] Shown w/ 2X Buck ' K AR ~
Qutswing shown {inswing similar) < =
Za
St @" 2
“v - —_
SEE NOTE 1 =g @-——» o
& ,.{:) ol
Q@ o . o
7 / RO
= -~
7 7 @ )
\x \' °
®— (39 -
O
@ EXTERIOR " "‘ INTERIOR =
baE: 3/10/22
/3" VERTICAL CROSS SECTION SAE N.T.S.
Note: /“4 \ HORIZONTAL CROSS SECTION IR ows. B RW
1. Screws located 8" from each end of astragal plus w Outswing shown {Inswing similar) cuk. B:  LFS
four (3) more located @ 23", 37" & 48" down from DRAWING NO.:
the top of the astragal {5 screws total - countersink 3/16"). FL—41467.2
SHEET _ 5 oF 10

Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.2.dwg

© 2022 R.W. BUiLDING CONSULTANTS INC.



TONT SANVLANSNGOI oNaging "m's 2202 O

£lgc oN fasided 3dad (4ong X1) SNOILOIS. SSOHD SNOISIAZY
LBL6°6S9°'CLY 'ON Buoyd F
SBGCC T4 ‘OSWIDA ‘OCZ Xog ‘O'd Eu IYOLLHIA ® TYINOZIYOH Al 3lvd_fON S I ” S
0_7.___ -.sm.rzs.._:wzoo SNIaHNG g. KTBWISSY 90 19vd Sf=|%|= LS5
wielny,, NE g3
N &J(ZO\Q\Q\ 60ty "ON "I'd 4000 S5y 1oeald > 2l E e 1 6_
S, SG . SNOS % S3AILS JElEl2 |
Q 4, PIULDS ‘4 UOPUAT m BT
/@.o‘oﬁoyno \\ EWGKM m
~ . *s Vn.:Ag polodeld sjusiunooq 1oNao¥d -3 an 5|8 %
J; / 70T ‘L dung
T . 60¥EY 'ON K -
” . R ~
< - oo S
\\\\&Q\wﬁzmow\/ N
T35 73
TN o
Dﬁ
oL
o
Z
P
)
Joem
O
Py
(7
3
e
OIS
<8
Uz 5
W.n
503
S =
oz
o ™ |~0
(¥ %]
¥
L

i

s

("dAL) "awd
"NIW #/1-1

.AV

Q SRERETTRERIREY _ ; .

<

| INTERIOR

ST il ]

-
o
=
K
P
» &y
: L]
o ol .
. S xlaz
3 N Lo
, 3 L |
ER m” - Awg
4 > m,nm
R >|506
. b oz
s a4 m 26
Lt
£
(PN}

("dAL) ‘w3
NIW ./ 1-1

INTERIOR

/t
i EXTERIOR

m HORIZONTAL CROSS SECTION

R

1-1/4" MIN.
EMB. {TYP.)

\6/ Shownw/ 1XBuck
Outswing shown {Inswing similar)

AR
v
v
<
v
<
<
SLLLALHLERN
<
v
<
CSIHIIL T
<
: <
Na :

BMpP'Z L9 L7-14\0202) L9¥Ly-Td\sBumeIQ - D\SIIYIS ADNIDIY L9¥Ly-Td\s|eroiddy 1onpoid BPHOLS - Y\JUBUBLLIS - SUOS pue $aA31S\s3UalD\Z



CONG SANVIAINGNGY SNIQTINng "M'Y 2202 [@)]

\\“‘.‘5;13 H
N\

&

€186 ‘ON Ausibey 3484 SNOISIATY
L6L6'6S9°'CLE "ON sucyd szomgz 0l 10341d) SNOILLO3S 1a Jiva TON
Soses 14 “osuen ‘o5z 08 03 ). ] S5O0 TOILMA % WNOZNOH Slulzle] <[
"ONI ‘SINVLIINSNOO ONIGTINg Mm« LTaN3SSY 40 1avd S=|x = S8
o e ot e 4000 SSv19¥381d oL LLES N
/0 IPHUYDS "4 uopull SNOS % S3A3LS Ll W Ww m H_ m
&... *e 3\\“\6 paipdeld sjusINsoQ 10Ngodd M m m M m %
.%.... T20T ‘L sung
. BOVEYON & =
. oo &
.'I -.. ,
,\Q zmu.W\/ ////
\\\\s SIOm /////
Hipgpn\
[+74
D_
{5 P
w
= o
G
5IE
als
1% 1K
o=
Size
288
Va3
=lc2
e
>S5
o ™~
(]
0o
s
&
('dAL) "awa o
NIW W/ 1-1 e
//\/
('dAL) 'awa N
NIW JF/ -1
(v
o
274
m_
= <
o
5
o=
Al2
A0
o= -
O=3
<86
SR
=52
X138
m >I50
&
= 'S 1S
(A ¥

INTERIOR

y

Qutswing shown {Inswing similar)

S
b " ®
O

1-1/4" MIN.
EMB. (TYP.)

Shown Direct to Mason

/"1 "\ HORIZONTAL CROSS SECTION

N

BmMpZ' 297 Ly-14\0202) L9¥Ly-TH\sBumeld - DASIIMIS ADNIOIY L9¥Lp-T4\slerciddy 1npoid BPLO]] - Y\IUBUBULIB] - SUOS PuB SIASIS\SIUSIDNZ



TON| BANVLIINSNGOD aNigning

AR -E-E4=kNe)

€186 ‘ON Ansibay 3494

w ,>.AJ =
g B 2
z @ ) ) o) @
T
4 ‘ Olo
X & s
w s a C m
” L
I ) a. w.wu
=B
3 [17] =)
z e >R
@
Ol (o~
m o
& @ (dAL) g3
NIW J#/1-1
j35 ]
< - =
| O
|~
o ¥
m o
[ 7]
@ - MAUM
-] Cm
IE
Ul's
&[S
N
Z
&
" !
0\ - L ldn)ana
_ NIW F/1-1

INTERIOR

SNOI SNOISIAIY
LBLB'6S9'CLR "ON 8uouyd L03S A8 21vd TON| ey N|O
S6SEE T4 "OOUIDA ‘OSZ Xod "O'd \Sv $S040 WOlLY3A N I N 1_
oNI _..m.rzﬁ._:mzoo oNIgTINg @v KTANISSY 90 1avd S1=|%H], 28
z - | Z 3 T~
WA NG, ¥000 SSV19434l N I
a2 NWIied, 60vEY "ON '3'd SNOS % S3AILS Ml &l &g !
///«UOEON.&@ 7, IPIUUSS 4 UOpUA] MEIFM S
S " V% :fg_peindeid sjuswinoog 110NQ0¥d 8 m HEIE b
u.. TTOT ‘L sunf
I¥
+ 60¥EY 'ON =
“\ c;. ;oo. m \
Z N S
\ X3 'Y
\\\\\ SIOm ’/I//
AITTITAAY

BMPZ L97LY-14\0202) L9vLy-T4\sBumeId - D\STIYIS ADNIDIY L9¥Lp-1d\s|erolddy 12NPoId BPLOYS - V\IUBUBLUIS - SUOS pue SBADIS\SIUBIDNZ



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.2.dwg

REER NN
L +rf

FRAME CORNERS ATTACHED w/ (3) 7/16" R R
CROWN X 1-1/2' LONG 16 GA. STAPLES & (2) S L,
- ¢ #7 X 1-5/8" DRYWALL SCREWS @ HEAD & SILL S&- % 0
. (TYP.) N Wz 0
(TYP) I‘ . . S8y 8 6z
T :'. .l-‘,l..‘.",:i:.,'-:.:/ t____4u (TYP,) ‘ 4" (TYP)——" - m:o pr :z: am
g . ' # o 2% 2 PTUQSLgag
el T ) AN l T 2. NN
e | ” .. " S D50
o 1 e “, S 302
1 %\ ‘M, o i Z SR
A . & ang 2 TN SR.%
A 4 =z o _l*E SEE HINGE . LS
2X BUCK es DETAIL 3 E"’ 285 f
= =) . C
NE
2XBUCK 11 =+ FRAME [l DIRECT TO e —f — > Sz v -
\ HEAD & JAMBS MASONRY ASTRAGAL/SURFACE =|g 52 §
(TYp) HEAD & JAMBS || goLT STRIKE BOLT 7B 213 Lu &
L A (TYe.) DETAILS 1 T 218 5¢
Q= SEE LATCH
— oe 2
GE = E & DEADBOLT =
Y -+ - - 6% © DETAIL 0xs| 2=
e S gl ©
= T2 S8 2L
2 _ DOOR SILL > l% NG
= 13 . (TYP.) — SQp e
oo T T 9% ' I I 1 ! 4] Bo|g 2=
R I 3 32{ LW o a% % LLE
3 LT I = 52| I3
/ HINGE JAMB COMPOSITE ASTRAGAL 5 5 S
7" STEEL FLIP LOCK FLUSHBOLT (5/16" @) 3 K| B
MASONRY @® EACH END OF ASTRAGAL ¥ z
2X BUCK ANCHORING FRAME ANCHORING -
DIRECTTO o
MASONRY
A\ 1X BUCK
DIRECT TO
MASONRY - o T oy 2X BUCK
DIRECTTO o [le<
MASONRY 1 BocK A @Z:" e <\® :
1X BUCK 2X BUCK ASTRAGAL BOLT @\ %
R \
@ 92X BUCK / HOLE @j’>® \ 2
@ o T HINGE DETAIL
A N \ Yo Ny olEe——=. @<‘ }..»—® INSWING .
lol 71 s L:‘—':}l’ X 5 — ~ I ;
S 2 oL s L\ DIRECT TO -
S / S I i w \ MASONRY wl |5
° 2X BUCK( J @ @siLL LATCH & DEADBOLT DETAIL 1XBUCK ~HE
- o
@ 1X BUCK @ HEAD e ||| eMe—] 2X BUCK cz) é
@siLL DIRECTTO == o 371022 ¢
ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS \) DWG. B:  RW 3
INSWING OUTSWING | T [E
HINGE DETAIL DRAWING NO: z
HARDWARE DETAILS OUTSWING FL-41467.2 |«
V SHEET _ 9 oF 10 S




ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.2.dwg

BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL

A |1XBUCK (G >= 0.42) WOOD
B | 2X BUCK (G >=0.42) WOOD
C | 1/4"MAX. SHIM SPACE .

D |1/4 X 2-3/4" PFH DeWALT OR TW CONCRETE SCREW STEEL
= | MASONRY -3,000 PST MIN. CONCRETE CONFORMING TOACT |~ et

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

E | 1/4"X 3-3/4' PFH DeWALT OR ITW CONCRETE SCREW STEEL
G| 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
H | 3/16° X 3-3/4" PFH ITW CONCRETE SCREW STEEL
7 | #10X 3" PFH WOOD SCREW STEEL
L | #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M| 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P |1/4" X 2-1/4" PFH DeWALT OR TW CONCRETE SCREW STEEL

1 | COMPOSITE JAMB COMP
7 | WEATHERSTRIP FOAM
8 | SWEEP VINYL
9 | 4'X 4" HINGE STEEL
11| #9 X 3/4" PFH WOOD SCREW STEEL
12 | LATCH STRIKE PLATE STEEL
13| DEADBOLT STRIKE PLATE STEEL
14| INSWING THRESHOLD ALUM/COMP
15 | OUTSWING THRESHOLD ALUM/COMP
25 | #8X 2-1/2" PFH WOOD SCREW STEEL
27 | #10X 2" PFH SMS STEEL
29 | #10X 3" FH COMPOSITE DECK SCREW STEEL
30 | 8" SURFACE BOLT (HAGER 275D) STEEL
31 | SURFACE BOLT GUIDE PLATE STEEL
32 | SURFACE BOLT STRIKE PLATE STEEL
33 | #10 X 2-1/2" PFH WOOD SCREW STEEL
37 | ASTRAGAL STRIKE PLATE STEEL
38 | ASTRAGAL (COMPOSITE) COMP
39 | #10 X 2 FH SMS STEEL
40 | DOOR PANEL :

41 | #7 X 1-5/8 DRYWALL SCREWS STEEL
42 | #8X2-1/2 FHSMS STEEL

1.25"

4.56"

0.75"

1

1.44"

| 213"

COMPOSITE JAMB

WORLDWIDE "4EVER"

3.54"

1.78" —=|

0.6" ——;

E

- 2.35" ——*—j

0.94"
38 COMPOSITE ASTRAGAL

5.62"

14 INSWING THRESHOLD

Columbia

2.44" ! _
. | I
4 o
 wy
s 27 )

4.6" ?

15 QUTSWING THRESHOLD
Columbia
CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the comers may be adjusted to maintain the min.

edge distance to mortar joints.

. Concrete anchor locations nofed as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
. Concrete anchor table:

"TMIN. CLEARANCE]
JACENT |

1-1/4“ S

P.O. Box 230, Vairico, FL 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

June 7, 2022

813.659.9197

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

NOJ DATE

REVISIONS

ATE: 3/10/22

wood screws fo prevent the splitting of wood.

ETST7 S [ oy
TAPCON® 11/4" yo N.Téi&
DWG. BY:
DeWALT _ T - -
ULTRACON+ CHK. BY: LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FlL—-41467.2

SHEET 10 oF 10

© 2022 R.W. BUILDING CONSULTANTS IND.



